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P!eaaf m@!a of the following instructions carefully before attempting questions :
There \Am EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and § are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question

shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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Q1.

WA
SECTION A

Freferfaa 3 & weres Sy &1 3w ST 150 yreat § S ;

Answer the following questions in about 150 words each : 10x5=50

(a) WA # SiEd G iR W amaTia R | 9 sae wm gfe @
fra ym wifea e € 2

The focal point of Sociology rests on interaction. How do you distinguish
it from common sense ?

(b) T F MR I 3 fHHag F amem F @ ae ok gew A g
Hifore |

Distinguish between fact and value in Weber's Protestant Ethic and
Spirit of Capitalism.

(c) wmﬁﬁannﬁz%ﬂﬁ‘mﬁﬁr‘ﬁ’ﬁamﬁ? \\q\
Do you think ‘T’ and ‘Me’ are central terms in Iﬁead' \m

(d) sr@ﬁmammmﬁﬁm%:a"ra B mﬁﬁmﬁiﬁ
FeTEw G | r\@

What is the differen Ween natural and social inequality ? Give
examp(l.gs &mn @lexn class dimensions.
\ \
\Qa\gﬁfﬁ qﬁan%ﬁammm%?aﬁiﬁﬁq |
What are the new forms of family in developed societies ? Discuss.

(e

(@) I ATAGETE FETTA AT ¢ ? IETEW T Hifoy |

Is non-positivistic methodology scientific ? Illustrate.

(b) HEEEN W gEH &% Uitk ahl hl TS HIGC | T AT FHHEAA
Wit war $ 3= g g0 faven gefn A Rt & o w a
g7
Explain Durkheim’s basic arguments on suicide. Can you analyse high
suicide rates of contemporary Indian society with Durkheim'’s theory ?

(¢) Heuiha Hifr foe 71 auma & fo amnfors wlew ywmaios 2 |

Evaluate if social stratification is functional for society.
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Q. (@
(b)
()
Q4. (a)
(b)

1 FHEATE F SR 3R AR W Rafrm snyfem & fasdg &
g wurdt R 2 fadem fifm

Does collapse of functionalism and bankruptcy of Marxism coincide with
the rupture of modernity ? Discuss.

%ﬁqﬁaﬁmmla&mﬁmmﬁﬁqﬁwﬁmmuﬁmm
?

Define patriarchy. How does patriarchy manifest in interpersonal
relations ?

wéq 3t gEin & ot arafamman # @ s @ 2 e fifdig |

What is the difference between anomic in Merton and Durkheim ?
Explain.

W % STER WEE 3 g swerm @ fee wer R g9 #
v aftads w0 F for 9y -« g 2@ R 2 \
According to Marx, how are human beings ahenated\.ft@%lhgu uman

potential and what does he suggest to chan \thl
(fﬂ
foen v & oft wei 6 Mﬁmﬂmtl
i o & sl sy i N

Schooling does n&t *nsure upwnrd mobility of all members of the
aucmt_v D:Bc@ h reference to class societies.

(@ Wﬂﬂ%ﬁqmﬁquﬁtmwgﬂﬁﬁﬂﬁﬂw
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D:scuss the challenges thrown by religious revivalism to a secular
nation-state.
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wvE B
SECTION B

Q5.  Frefafaa § & veles gy &1 3w wwm 150 weai o i

Answer the following questions in about 150 words each : 10x5=50
(a) w0 FAE T § Al gvem A du R 2 fadem Fifig
Is the theory of cultural lag valid in present times ? Discuss. 10

(b)
(c)
(d)
(e)

(a)

(b)

(e)

EGT-P-SOCY

w1 wfes wigen wrigd § s o weEl § snfem @ € 2 smem
#ifdw |

Are social movements primordial in means and progressive in agenda ?
Explain,

w1 it fafa waommer B ww faw a2 R 2 geln H Rl % @
A I H \rEE© W DR | '

Does scientific method make Sociology a science ? Illustrate your
with Durkheim’s method.

mmamm*m,mmw@“@mu&w
daftal & de v Hifwe |

. e\ \
Distinguish between quantitative Pnﬁ\ q%i&ive techniques of data
collection with suitabl,.g ehmpfﬁnwn Indian society.

e < A\ 5 : .
wmﬁzﬁ i, S 1 dga yonferl § e @ 7 orEu W @
:!J-“,i\l\x’ ’

m

AN )
s’ sacialmobility possible in closed systems of stratification ? Illustrate
m research work.

fohardt worst & wrd & wles @ H v f Rden T ©
dimiaii’ & g o Hiftu |

Discuss the nature of social organisation of work in capitalist society
with reference to the ‘Limits of the working day’,
Fgra e ) dvewn F we # wiEn v g i Rt Hif |

Distinguish between family and household with reference to the concept
of development of the household.

A FFETH % e i s R ) sl wfa
=ren Fifay |

Explain with examples, the explanatory and exploratory designs of
social research.
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Q7. (a)
(b)

(e)

Q8. (a)

(b)

g
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aur # e wwensd w1 e $@ § odw § v emum) e W
form wer 39 foman st s R 2 fadem Hifde )

How can Parsons’ AGIL framework be used to analyse key problems in a
society ? Discuss. 20

mmwt?ﬁﬁﬂwm%mﬂtﬁatmmm
|

What is labour commitment ? Discuss it with reference to studies of
manufacturing industry. 20

TR F AR il & g sfean wnwn § 2 e fift )

What, according to Pareto, are the basic characteristics of elites ?
Discuss. 10

mmﬁmﬁtMﬁsﬂtmﬁaﬁ&
mﬁa@ﬁuﬁaﬂ%t”-ﬂmﬁmnm

“The sociological imagination enables us to gmsp :s I:i‘iography
and the relationship between the txm — C.W. Mills.

Explain A 20
tn £ ﬁ ? Iufas 3 ﬂ T § v fiem 6t fadem
What @t@ é\kuss their role in multi-religious societies with
nfar% 1 examples. 20

A form ol 7 o % aar & foe yerfos & w9 4 spva @ ?
In what way did Durkheim perceive religion as functional to society ? 10
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